4. (30%) For the circuit shown below, suppose that V,, =0.7V and £ =100, find
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5. (25%) For the circuit shown below, suppose that the diode has a voltage drop

V,=0.7V , find the values of [, and V.
(10%) For an ideal transconductance amplifier, which of the following

statements is correct: +20V
(A) It has an infinitely high input resistance; (B) the output signal is voltage; (C) It has 20kQ2 lI I,
zero output resistance. V
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(25%) For the circuit shown below, both diodes are identical, conducting 10mA
at 0.7V and 100mA at 0.8 V. Find the value of R for which V= 60mV.

(10%) Which configuration of single-stage FET amplifiers normally acts as

unity-gain current amplifier?

(A) The common-gate amplifier; (B) the common-drain amplifier; (C) the
common-source amplifier.



